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① ������ ���������� ��� ������� �� �� ������� �� �����������

② ������ �� �������� �� ���� 14 �� �������������� ���� ����� ���� ��� ������� ��������
6� 17 �� 25�

③ ������� �� ������� ������� ����������� ���� � ������� �� ������ ������������ �������
���� �� �������� �� ������ �������� ��� ���� 10� ���� ��� ������ c3c2c1c0�

����������

① ���� �� ������� �� ���� b� �� ������ ��� ���������� ��� �� ����� �� ������� cncn−1 . . . c0
����� ��� (ci)10 ∈ {0, . . . , b − 1}� ������ ci �� ������ ������������ ���� �� ���� �������
������� (ci)10 ≥ 10 �� ������� ��� ������ ��������� ����� ������ �� ���������� ����
A� �� ���� 14 �� � ���� ci ∈ {0, 1, 2, . . . , 9, A,B,C,D}�

② �������������� �� ������� ��������
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③ ������ ������ ci ∈ {0, 1, 2, . . . , 9, A,B,C,D}� �� ���� ���� ������� �� ������� ����������
������ �� ������ c3c2c1c0 ���� 14× 14× 14× 14 = 144 = 38416 ������� ����������

������ �� �� ������ �������� N ������������� � c3c2c1c0 �� ���� ���

(c3c2c1c0)13 = (c3)10 × 143 + (c2)10 × 142 + (c1)10 × 141 + (c0)10 × 140 = N

= (c3)10 × 2744 + (c2)10 × 196 + (c1)10 × 14 + (c0)10 × 1 = N

�



� c3 � ���� ����� ���� �
� c2 � ���� ����� ��� �
� c1 � ���� ����� �� �
� c0 � ���� ����� ��

� ���������� �� ����

��� ����������� �� ���� 10

������ �� ������ �������� ��� ������� ������� �������� �

① 1100112 �� 10110102 �

② 563248 �� 17038 �

③ B5A9712 �

④ CE9416 �� 3F5A16�

����������

①

1100112 = 1× 25 + 1× 24 + 1× 21 + 1× 20

= 32 + 16 + 2 + 1

= 5110

10110102 = 1× 26 + 1× 24 + 1× 23 + 1× 21 + 1× 20

= 64 + 16 + 8 + 2

= 9010

②

563248 = 5× 84 + 6× 83 + 3× 82 + 2× 81 + 4× 80

= 5× 4096 + 6× 512 + 3× 64 + 2× 8 + 4× 1

= 20480 + 3072 + 192 + 16 + 4

= 2376410

17038 = 1× 83 + 7× 82 + 0× 81 + 3× 80

= 512 + 448 + 0 + 3

= 96310

③

B5A9712 = (B)10 × 124 + (5)10 × 123 + (A)10 × 122 + (9)10 × 121 + (7)10 × 120

= 11× 124 + 5× 123 + 10× 122 + 9× 121 + 7× 120

= 11× 20736 + 5× 1728 + 10× 144 + 9× 12 + 7× 1

= 228096 + 8640 + 1440 + 108 + 7

= 23829110

�


